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Oif (0) printf("X"); O
@if (@) printf("Y"); else printf("Z"); 0
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if (no == 0)
puts("OO0 OO .e004d"™;
else if (no > 0)
puts("OOoooonoo™;
else
puts("OOQOOoOOooom™;

ooobodbelset oD ooofoobobooboboobooboooD

OO0O0OOoOgbooon else (dangling else)

if (h < 12) if (h < 6) printf("A"); else printf("B");

0o000oooooooooooooo?
oo 1.

if (h < 12) { if (h < 6) printf("A"); else printf("B"); }

o0 2:

if (h < 12) { if (h < 6) printf("A"); } else printf("B");
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if (n1 > n2)
max = nl;
else
max = n2;

if (n1 > n2) {
max = nl;

} else {
max = n2;
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switth OO Ooooooono 0:00000000000b00b00bo0bon

000D caseO0OonoooooOd goooooooo
OO0Obreak DO UODODODOOODOD switchOODODOODOODODO break DO O OO
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#include <stdio.h>

int main(void) {
int hourl, minutel, hour2, minute2, hour3, minute3;

printf("hourlOD O OO OOODO :");
scanf("%d", &hourl);
printf("minutelD 0 OO 0000 :");
scanf("%d", &minutel);
printf("hour20 O OO OOODO :™);
scanf("%d", &hour2);
printf("minute20 0000000 :™);
scanf("%d", &minute2);

hour3 hourl + hour2;
minute3 = minutel + minute2;

if (minute3 >= 60) {
hour3 = hour3 + 1 ;
minute3 = minute3 - 60;
3
printf("O 000 0O%d0O O%d0O 0 O O \n", hour3, minute3);
return 0;

200000000bogonDog

#include <stdio.h>

int main(void) {
int nl, n2, tmp;

printf("O 0O 10000 00O0O0O:"); scanf("%d", &nl);
printf("O0O20 0000000 :"); scanf("%d", &n2);

if (n2 > nl) { /* nl0n20 00000 */
tmp = nl;
nl = n2;
n2 = tmp;
}
printf("O 0000 %dO0 OO O00O0O%dO O ON\n", nl, n2);
return 0;
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O (statement) O OO0O0O00O0O
o aoo gooad
if O if (O0)O (0 p42)
if0d else O if (O0)0O elseld d p.44)
ooo@ooo)y | {oo ... O...3} (0 p.58)
switch [ switch (O ) O Q0 p.64)
oooooo case 0O ODOODO : 0O
default : O (0 p.65)
break [ break ; (0 p.65)
O (expression) 0000000

go

000 \DDDD

00000 (0?0 :0 | (D p.56)
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